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1. 35 W REE R E R
o o v |23 e A 7asaonuonlun s | 1A 28 |8 | sl | b %L@@‘afﬂ@l
1/8~9(5/7~86/3~4|7/1~2|8/5~6|9/2~3| 10/7~8 | 11/5~6 | 12/2~3 | 1/6~7|2/3~4|3/3~4| 10/7~5]|| T HRAE| T BEE
1 |770ae=FrUn wg/m’]0.027 | 0.019 |0.023 {0.038 [0.024 [0.023 [<0.0140.014 | 0.015 | 0.021 | 0.019 [<0.014[<0.014f 0. 014 | 0. 004 ][ - 2
2 (ke =1F s ~— | 4o/m|c0.025[<0. 025(<0. 025|<0. 025]<0. 025]<0. 025 0. 065 |<0. 025|<0. 025(<0. 025]<0. 025[<0. 025{0. 070 [ 0. 025 | 0.007| - 10
I PZ=0=2: Y 7WN wg/m’] 0.18 [0.20 |0.16 {0.085 [0.25 [ 0.16 | 0.15 |0.11 |0.15 |{0.14 [0.14 [0.10 [0.16 [0.013|0.004]f - 18
4 |, 2-v7umxgy | yg/m*]0.19 |0.35 [0.13 {0.15 [0.20 [0.082 [0.070 |0.13 |0.098]0.12 | 0.12 [0.093 |0.070 [[0.014|0.004]f - | 1.6
5 [PrmmAzy weg/m ] 1.7 | 1.4 |0.82 [0.99 | 1.3 [0.63 [0.77 [0.66 |0.99 |0.99 |0.84 [0.46 [0.81 [lo.019]0.006] 150 | -
6 |7rF7mE=FLr | 4g/n*] 0.19 | 0.10 <0.048] 0.10 [0.093 | 0.13 |0.093 | 0.11 [0.084 [0.084 [0.094 [0.13 |0.10 [0.048]|0.014]f 200 | -
T |FVZzeo=FLy | pe/m’|o.22 {0.047 [0.083 [0.078 [0.053 | 0.066]0.19 [0.041 [0.12 [0.18 |0.099 | 0.12 |{0.20 |f0.017 [0.005( 130 | -
8 [L,3-7 vz wg/m’[0.074 [0.046 |0.048 0.061 |0.063 [0.051 [0.053 [0.029 | 0.12 | 0.17 {0.094 [0.048 [0.062 [l0.015]|0.005) - | 2.5
9 [RrEr wg/m*]0.65 [0.65 |0.49 {0.41 [0.75 [0.39 [0.55 |0.58 | 1.0 | 1.3 | 1.2 | 0.51 |[0.59 [0.024]0.007]f 3 -
10 |=v s ng/m | o2 | @ | e | 2| 2| e | @ | <2 || <e|<e|ae]|«< 2 |os| - 25
IR A=A ng/m | 5 | 5| 5| 5| 5| 5| G5 | 5| 5| B | 5| G| <5 5 2 - -
12 |7 MTATE R we/m | <0.5 | <0.5|<0.5]<0.5[1.0 |07 [<0.5]<0.5]|08 [08 |<0.5<05]|<0505|o02] - | 120
13 |AA AT LT R wg/m’] 1.1 [ <0.5]<0.5]06 |1.4 [08 [06 |<0.5]07 | 0.7 [<0.5]<0.5[06 [ 05]o003] - -
14 |HEfb A F v weg/m|1s |16 [ 1.7 |20 |25 | 15| 1.3 [L3 | 12|13 [L4 |18 |13 [o.017]0.005] - 94
15 | k= wg/m] 23 |14 |13 |21 |28 [20 |97 |08 |35 | 38|27 [094| 10 [o0.022]|0.007f - -
16 |3k ng/m | 0.6 | 0.3 |10 [02 | 0.3 |<02|[<02]| 05 [<.2]|<0.2]|<0.2|1.7]|<0.2fo02]o00s| - 6
17 KR ng/m* |21 | L7 | L4 |15 |20 | 1.6 | 1.4 | 1.2 | 1.4 |22 |20 |17 |13 [[0o.19]0.06] - 40
18 |~ A ng/m* | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 f 10 3 - | 140
19 |Bft=F Lo ug/m’ 0. 050 [0.064 |0.054 [0.048 [0.054 [0.058 |0.027 |0.032 | 0.16 |0.028 [0.032 [0.017 [0.027 [l0.0068|0. 0020 - -
20 [ XY UL ng/m’ | <0.4 | <0.4 ] <0.4 | <0.4]<0.4|<0.4[<0.4]<0.4<0.4]<0.4]<0.4<0.4]|<0.4f04]01] - -
21 (R lalE Ly ng/m’ [0.097 [0.009 [0.013 |0.010 | 0.012|<0.0040(0.013 [0.034 [0.086 | 0.31 |0.024|0.19 [0.011 [0.00400.0012| - -
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o o wig |25 LR [ 7A s [on oAl A i | 1Al en [34 i *ﬁﬁ—ﬁllﬁ@@‘ﬁf“‘ﬁl
4/8~9|5/7~8|6/3~4|7/1~2|8/5~6|9/2~3| 10/7~8 | 11/5~6 | 12/2~3 | 1/6~7|2/3~4|3/3~4 [ BRAE| T R
1 |770ae=FrUn wg/m’]0.024 | 0.0190.034 {0.035 [0.034 [0.027 [0.020 | 0.015[0.023 {0.021 [0.015 [<0.014 0.014]0.004]f - 2
2 (ke =1F s =— | ug/m’ |c0.025[<0. 025(<0. 025[<0. 025| 0. 039 | 0. 028 | 0. 044 |<0. 025|<0. 025[<0. 025]<0. 025(<0. 025 0.025]0.007 ][ - 10
I PZ=0=2: Y 7WN wg/m*] 0.18 [0.21 |0.16 {0.087 [0.22 [0.17 | 0.14 |0.11 |0.12 |0.12 [0.14 [0.12 0.013]0.004]f - 18
4 |1,2-v7umxgy | 4g/m*]0.20 |0.36 [0.13 |0.16 | 0.17 |0.077 | 0.068 |0.093 |0.096[0.12 [0.12 [0.11 0.014]|0.004ff - | 1.6
5 [PrmmAzy wg/m*] 1.7 | 1.4 |o0.86 | 1.0 | 1.3 [0.68 [0.56 [0.62 |0.69 |0.76 |0.80 [0.51 0.019]0.006] 150 | -
6 |7 rFsmu=FLr | 4g/n*]0.10 |0.058(<0.048]<0. 048] 0. 069 | 0.098 |0.090 |0.093 {0.057 [0.094 |0.095 [<0.048 0.048 ] 0.014[ 200 | -
T |FYVZmoxFLry | pe/m’] 023 [0.052 [0.076 [0.11 | 0.11 |0.14 | 0.26 | 0.16 [0.087 | 0.22 [0.25 |0.071 0.017]0.005[ 130 | -
8 [L,3-7 vz wg/m’]0.092 [0.057 |0.074 |0.071 {0.12 [0.074 [0.079|0.039| 0.11 |0.15 |0.074 [0.053 0.015|0.005[ - | 2.5
9 [RrEr wg/m*]0.79 0.70 |0.50 |0.47 | 0.86 [0.57 [0.52 |0.61 |0.92 | 1.1 [0.98 |0.67 0.024|0.007| 3 -
10 |=v s ng/m | o2 | @ | 2| 2| @ | e | e | 2| <] e]|<e]|<e 2 |os| - 25
IR A=A ng/m | 5| 5| 5| 5| 5| 5| 5| B | 5| G| 5| <GB 5 2 - -
12 |7 MTATE R we/m ] <0.5 | <0.5]<0.5<0.5[1.0 |08 [<0.5]<0.5]|1.1 [08 |<0.5]|c<0.5 0.5 [ 0.2 f - | 120
13 | AT LT R we/m] 11 [ <0.5]<0.5]06 [1.4 |10 [07 |<0.5[08 [ 07 |<0.5]|<0.5 0.5 [0.03f - -
14 |HEfb A F v peg/m|l4 |22 [ 17 |16 |20 | 1.6 | 1.3 | 1.4 | 1.3 | 1.4 | 1.5 |13 0.017[0.005( - 94
15 | k= wg/m] 28 [29 |33 |32 |40 [31 [30 |19 |80 |37 |33 |18 0.022]0.007]f - -
16 |3k ng/m’ | 0.3 [ <o.2 | 0.2 | 0.2 ] 0.6 | 0.3 [<0.2[ 04 [<0.2|02]03 |19 0.2 [oo08f - 6
17 KR ng/m* |21 | 1.7 | 1.6 |15 | 1.6 | 1.6 | 1.4 | L6 | L5 |16 | 2.2 | L.8 0.19 | 0.06 || - 40
18 |~ A ng/m’ | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | 10 10 3 - | 140
19 |Bft=F L ug/m’J0.048 [0.057 |0.057 [0.044 {0.056 [0.042 |0.023 | 0.042 |0.045 |0.033 |0.034 [0.017 0. 0068|0. 0020)| - -
20 [ XY UL ng/m’ | <0.4 | <0.4 ] <0.4 | <0.4|<0.4|<0.4[<0.4]<0.4|<0.4|<0.4]|<0.4|<0.4 0.4 | 01| - -
21 (R lalE Ly ng/m° J0.030 [0.022 J0.013 [0.0079 |0.012 |<0.0040(0.017 |0.049 [0.078 | 0.45 |0.73 |0.29 0. 0040[0. 0012| - -
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